Potencias de 10 (D)

30102

261073

49 + 1072

551072

511071

70 = 107!

301072

61073

91073

99 =103

Calcule los siguientes cocientes.

38+107!

421072

90+ 10!

161073

95 +1073

231071

610"

171071

31+1072

71071
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Potencias de 10 (D) Respuestas

301072
3.000
261073
26.000
49 = 1072
4.900
55+1072
5.500
51+=107"
510
70+-107"!
700
301072
3.000
61073
6.000
91073
9.000
99+~ 1073
99.000

Calcule los siguientes cocientes.

38 107!
380
42 +1072
4.200
90+ 10!
900
161073
16.000
951073
95.000
231071
230
610"
60
17+107!
170
31+-1072
3.100
71071
70
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